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Note : (i) Question No. 1 is compulsory.

(it) From the remaining questions do any
eight.

(iti) All answers should be brief and to the
point.

1. (a) Explain the process of classification. Why
1s 1t considered a pre-number concept ?
Further, give an outdoor activity to help a

child develop the ability to classify. 4

P.T.O.
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(d)

(e)
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Give two distinct activities to evaluate

whether a group of 30 children of class

5 have understood the concept of area. 4

Explain the statement “Mathematics is all
around us”. Your explanation should
include fwo examples each from two

distinct areas of mathematics. 4

Give possible reasoning used by a child

who gave the following answer :
2 + 3 =6+8=14
4 5

By looking at this answer, give one concept
that the child has understood and one
misconception she has. Further, give an
activity to help her correct her

misconception. 4

Manik says that (- 5) < (—9), while Sahiba
says (— 9) < (= 5). Which of them is correct,
and why ? Further, give an activity to

bring out which of them is correct. 4
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(a)

(b)

(a)

(b)
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(1) How many lines of symmetry does a

circle have and why ? 2

(i1) Give an object having exactly two lines

of symmetry. Justify your answer. 2

Explain each of the following, using an

example, pertaining to the concept of

length : 6
(1) Language of explanation n
Mathematics

(1) Language of problem solving

(111) Mathematics as a language

Give an algorithm for dividing a number by
a non-zero fraction. Give a series of two
activities to help a child understand why
this algorithm works. Also explain how

these activities form a series. 6

Explain the meaning of the term ‘in
general’ as used in Mathematics. How 1is
this different from the way it is used in
daily life ? How would you help children
the difference ? 4

P.T.O.
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Explain the relationship between
arithmetic and algebra. Your explanation

should include fwo distinct examples. 3

What does “learning by experiencing
things’ mean ? Give an example of learning
of this nature in the context of spatial

understanding. 3

When can one say a 5-year old child has
learnt to add numbers ? Explain this with

examples of tasks expected to be done. 4

Which is greater, 0.050 or 0.0499999 ? Give

reasons for your answer. 2

A child, asked to find out the time
difference between 4 hours 10 minutes and

2 hours 55 minutes, solved it as follows :

4 hours 10 minutes

2 hours 55 minutes

1 hour 55 minutes
What could be the reasoning behind her
answer ? Further, give two activities one to
help her understand the error in her
reasoning, and the second to evaluate the

efficacy of the first activity. 5
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(¢) Prove or disprove the statement that “the
cube of a prime number has more than

5 factors”. 3

(a) What is the E-L-P-S sequence ? Illustrate
1t in the context of children learning the

concept of ‘zero’. 6

(b) Rashmi argues that in Mathematics
practice 1s important, and repetition need
not be boring or mechanical. Explain what
Rashmi means by this, and give two
distinct examples from learning about

angles in your explanation. 4

Which of the following are correct ? Justify the
correct statements, and correct the wrong ones

giving justification for doing so : 10
(1) Assessment begin after teaching ends.

(1) 0.21 is greater than 0.4 because 21 1is
greater than 4.

(i11) It is important for a teacher to study the

errors made by her students.
(iv) A square has only one axis of symmetry.
(v) A single mathematical expression can

represent several situations.

P.T.O.
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For children of class 5, give one word
problem each for the following categories

and contexts : 6
(1) Augmetation, using fractions

(1)) Complementary addition, using

decimal fractions

(i11) Cartesian product, using counting

numbers.

What does “Mathematics is an hierarchical
subject” mean ? Give examples of two
hierarchical chains, from distinct areas of
Mathematics, to illustrate your answer.
Further, how does this nature of

mathematics affect learning in children ? 4

Give five guidelines for preparing a lesson plan.

INlustrate them in the context of developing a

one hour lesson on introducing children of class

6 to the concept of a variable. 10

10. (a) Why 1is it important to develop the ability

of estimation in children ? Suggest a game
which helps children to develop the ability
to estimate length. 3
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(b) Suggest two outdoor activities, one to

(©

assess the ability of 20 children of class 5
to understand the language of
Mathematics, and the second to assess the
ability of a class 4 child to understand
‘area of any 2D object.’ 4

Give two distinct fractions that are
equivalent to g Pictorially explain how

they are different. 3

P.T.O.
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